1320244 710 250MEMmpUL

Boitnoanunu yuenuuot 11 «A»
kaacca:I'ancman /l., Macnoea IO.




JlaHo:

ArABC-paBHOOEIPEHHBII,
AB=BC=10 cm

AC=12 cm

Havtu V tena Bpaiienus




PenieHnue:

1(R2+Rr+r2)- 1/3 Socx. *h

T*8(122+12%6+6%)-1/3TT*62*8=
1/311%8*252-1/3TT*288=201611/3-28811/3=1728T1/
3=57611 cm?




CamocrosTenbHas padora Ne 19

JlaHo:
KOHYC

1=10
S0.11.=60I1
Hantun VoI




PenieHnue:

9 V=43108
| @ AABS: paBHOOEIPEHHBIN
’ S6.m.=I1RI

60TT=10ITR /:101I
® R

#® SO=\SB>-OB?

SO=V100-36=8 cm
SAABS=(AB*S0)*1/2=1/2Pr
S=1/2*12*8=48 cm>

@ P—10+10+12=32 cm

2@ 48=1/2%32%r

Y =3
V=4/311*33=(4*27*I1)/3=3611 cm>

" Orser: 3611 o3
. ®




